
Time: 10 Minutes Paper Science 4 (T-1) Total Marks: 10

5th Month, 1st Week, 1st  Day
Unit No.7: Introduction + Earth and its

Physical Characteristics

Q.No.1 Encircle the correct answer from the following choices. (6×1=6)


(i) Percentage of water on Earth is: 
(a) 71 (b) 74 (c) 76 (d) 79

(ii) The blue area on the globe represents to:   

(a) dry land  (b) water  (c) forest  (d) ocean 
(iii) Air is present in: 
(a) water  (b) soil  (c) lake  (d) everywhere 

(iv) About_____ of the land is cultivated. 
(a) 10%  10 (b) 11%  11 (c) 17%  17 (d) 22%  22

(v) The Earth is surronded by: 
(a) Air  (b) Carbon dioxide 
(c) water  (d) sulphur dioxide 

(vi) We cannot see: 
(a) air  (b) ocean  (c) canal  (d) mountain 

Q.No.2 Write short answers. (2x2=4) 

(i) What will happen if natural resources run out? 

(ii) Do all living organisms in the soil breath? 
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